Cp-05
BAPUAHT 1

Pemure TpuronomeTpuyeckue
YPaBHEHHUS:

1. 2sin’x—5sinx—7=0
12sin®* x +20cos x — 19 =0
3. 3sin®x + 14sin x cos x + 8cos> x =0

4. Ttgx—10ctgx+9=0

A-10 Cp-05

BAPWAHT 2

Pemre Tpuronomerpuueckue
YPaBHEHUS:

1. 10cos’x—17cosx+6=0
2cos’ x+ 5sinx+5=0

3. 6sin® x + 13sinx cos x + 2cos® x =

4. Stgx—4ctgx+8=0
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BAPUAHT 3

Pemre Tpuronomerpudeckue
YPaBHEHHS:

1. 3sin’x—7sinx+4=0
2. 6sin*x—1lcosx—10=0
sin® x + 5sin x cos x + 6¢cos® x =0

4. 4tgx—12ctgx+13=0
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BAPUAHT 4

Pemyre Tpuronomerpuueckue
YPaBHEHHUS:

1. 10cos’x+ 17cosx+6=0
2. 3cos’x+ 10sinx—10=0

2sin® x + 9sin x cos x + 10cos? x =

4. 3tgx—12ctgx+5=0

5. Ssin2x—l4cos’x+2=0 5. 5—8cos*x=sin2x

5. 6cos’*x + 13sin 2x =-10 5. 10sin®*x —3sin 2x =8
6. 9cos 2x —4cos’ x = 11sin 2x + 9 6. 7sin 2x + 9cos 2x =—7

6. 2sin® x + 6sin 2x = 7(1 + cos 2x) 6. 11sin 2x — 6cos’ x + 8cos 2x =8
A-10 Cp-05 | A-10 Cp-05 | A-10 Cp-05 | A-10 Cp-05

BAPUAHT 5

Pemure TpuronomeTpudeckue
ypaBHEHHUS:

1. 10sin’x+ 11sinx—8=0
4sin*x — 11cosx—11=0
4sin® x + 9sin x cos x + 2cos> x =0

4. 3tgx—8ctgx+10=0

BAPUAHT 6

Pemnre Tpuronomerpuueckue
YpaBHEHHUS:

1. 3cos’x—10cosx+7=0
6cos’x+ 7sinx—1=0

3. 3sin® x + 10sin x cos x + 3cos® x =

4. 6tgx—1ldctgx+5=0

BAPUAHT 7

Pemnre Tpuronomerpudeckue
YpaBHEHUSL:

1. 6sin’x—7sinx—-5=0
2. 3sin*x+ 10cosx—10=0

2sin® x + 11sin x cos x + 14cos® x =

4. 3tgx—S5ctgx+14=0

BAPWAHT 8

Pemmre Tpuronomerpudeckue
YpaBHEHHUS:

1. 3cos’x—5cosx—8=0
2. 8cos’x—14sinx+1=0

5sin® x + 14sin x cos x + 8 cos® x =

4. 2tgx—O9ctgx+3=0

5. 3sin2x+ 8sin*x=7

5. 6sin*x+7sin2x+4=0 5. 10sin® x — sin 2x = 8cos® x 5. sin®x — 5cos® x = 2sin 2x
6. 10sin® x + 11sin 2x + 6cos 2x = —6

6. 7="7sin 2x —9cos 2x 6. 1 — 6cos®x = 2sin 2x + cos 2x 6. S5cos 2x + 5= 8sin 2x — 6sin® x
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BAPUAHT 9

Penure TPUTOHOMETPUICCKHUEC
YpaBHCHUHA:

1. 6sinx+ llsinx+4=0
4sin*x —cosx+1=0

3. 3sin’ x + 11sinx cos x + 6¢cos x =

4. S5tgx—8ctgx+6=0

BAPUAHT 10

Pemure TPUTOHOMETPHUUICCKUC
YpaBHCHUHA:

1. 4cos’x+cosx—5=0
10cos’x—17sinx —16=0
3. sin’x+ 6sinx cosx + 8 cos’ x =0

4. 3tgx—b6etgx+7=0

BAPUAHT 11

Pemure TPUTOHOMETPHUYCCKHUC
YpaBHCHUA:

1. 10sin’x—17sinx+6=0
2. Ssinx—12cosx—12=0
2sin® x + 5sin x cos x + 2cos’ x =0

4. T7tgx—12ctgx+8=0

BAPUAHT 12

Pemure TPUTOHOMETPUICCKHUEC
YpaBHCHUHA:

1. 2cos’x—5cosx—7=0
2. 12cos’x+20sinx—19=0

5sin® x + 12sin x cos x + 4cos® x =

4. 2tgx—o6ctgx+11=0

5. 2cos’x—11sin2x=12 5. 3+ sin2x=8cos’x
5. sin2x+1=4cos’x 5. 22sin®* x — 9sin 2x =20

6. 2sin® x —3sin 2x —4cos 2x =4 6. 2sin2x +3cos 2x =2
6. 14cos® x + 3 =3cos 2x — 10sin 2x 6. 14cos® x —2cos 2x = 9sin 2x — 2
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BAPUAHT 13

Pemnre TprroHOMETpHYECKHE
YpaBHEHHUS:

1. 4sin’x+sinx—5=0
2. 6sin*x+7cosx—1=0

3. 4sin’® x + 11sin x cos x + 6¢cos® x =

4. Stgx—obetgx+13=0
3 — 4sin® x = sin 2x

10sin 2x + 3cos 2x = -3 — 14sin® x

BAPUAHT 14

Pemire TpuroHoMeTpruecKue
YpaBHEHHUS:

1. 8cos’x—10cosx—7=0
4cos’x —sinx+1=0

3. 3sin® x + 10sin x cos x + 8cos® x =

4, 2tgx—12ctgx+5=0
14sin®* x — 11sin 2x = 18

2sin 2x — 3cos 2x =2

BAPWUAHT 15

Pemire TpuroHOMETpHUYECKHE
YpaBHEHUSL:

1. 3sin’x—5sinx—-8=0

2. 10sin*x+17cos x—16=10
sin’ x + 8sin x cos x + 12cos’ x =0
4. 4tgx—Octgx+9=0

14sin’ x — 4cos” x = Ssin 2x

1 — 5sin 2x — cos 2x = 12cos* x

BAPWUAHT 16

Pemmnre TpuroHOMETpHYECKHE
YpaBHEHHUS:

1. 8cos’x+ l4cosx—9=0
2. 3cos’x+5sinx+5=0

2sin® x + 11sin x cos x + 5cos> x =

4. Stgx—3ctgx+14=0
2sin® x — 7sin 2x = 16cos” x

14sin® x + 4cos 2x = 11sin 2x — 4
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BAPUAHT 17

Pemre Tpuronomerpuueckue
YPaBHEHUSL:

1. 12cos’x—20cosx+7=0
2. Scos’x—12sinx—12=0

3sin® x + 13sin x cos x + 12cos® x
0

3.
4. Stgx—obctgx+7=0

5. sin®x + 2sin 2x = Scos’ x

6. 13sin2x —3cos 2x=-13
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BAPUWAHT 18

Pemre Tpuronomerpuueckue
YPaBHEHUS:

1. 3sin’x—10sinx+7=0
2. 8sinx+10cosx—1=0

4sin® x + 13sin x cos x + 10cos® x
0

3.
4. 3tgx—3ctgx+8=0
5. sin2x+4cos’x=1

6. 10cos’ x — 9sin 2x = 4cos 2x — 4
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BAPUAHT 19

Pemre Tpuronomerpudeckue
YPaBHEHHS:

1. 6cos*x—Tcosx—5=0

2. 3cos’x+7sinx—7=0

3. 3sin®x + 7sin x cos x + 2cos’ x =0
4. 2tgx—4ctgx+7=0

5. sin2x—22cos’x+10=0

6. 2sin’ x — 3sin 2x — 4cos 2x =4
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BAPUAHT 20

Pemyre Tpuronomerpuueckue
YPaBHEHHUS:

1. 5sin’x+ 12sinx+7=0
2. 10sin®’x—1lcosx—2=0

3. 4sin® x + 13sinx cos x + 3cos® x =
0

4. 6tgx—10ctgx+7=0
5. 14cos’x + 5sin2x =2

6. 4sin2x =4 —cos 2x
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BAPUAHT 21

Pemure TpuronomeTpudeckue
ypaBHEHHUS:

1. 6cos’x+1lcosx+4=0

2. 2cos’x—3sinx+3=0

3. 2sin® x + 7sin x cos x + 6¢os’ x =0
4. 4tgx—3ctgx+11=0

5. 9sin 2x + 22sin’ x = 20

6. 8sin’x + 7sin 2x + 3cos 2x + 3 =

A-10 Cp-05

BAPUAHT 22

Pemnre Tpuronomerpuueckue
YpaBHEHHUSL:

1. 2sinx+3sinx—5=0
2. 10sin*x—17cosx—16=0

3. Ssin? x + 13sinx cos x + 6¢os” x =

4. 3tgx—1ldctgx+1=0
5. 10sin*x+ 13sin2x+8=0

6. 6cos®x + cos 2x =1+ 2sin 2x
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BAPUAHT 23

Pemnre Tpuronomerpudeckue
YpaBHEHUSL:

1. 10cos’x+ 1lcosx—8=0

2. 4cos’x—1lsinx—11=0

3. 3sin’x + 8sinx cos x +4cos’ x =0
4. Stgx—12ctgx+11=0

5. 5sin2x+22sin’x=16

6. 2sin’x — 10cos 2x = 9sin 2x + 10
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BAPUWAHT 24

Pemmre TpuronomeTpudeckue
YpaBHEHHUS:

1. 4sin*x+ 1lsinx+7=0

2. 8sin’x— l4cosx+1=0

3. 2sin® x + 9sin x cos x + 9cos’ x =0
4. 6tgx—2ctgx+11=0

5. 8sin®x —7 = 3sin 2x

6. 1lsin2x=11—-cos2x
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BAPUAHT 25

Penure TPUTOHOMETPUICCKHUEC
YpaBHCHUHA:

1. 2cos’x+3cosx—5=0

2. 6cos’x—11sinx—10=0

3. sin®x +7sinx cos x + 12cos* x =0
4. Ttgx—8ctgx+10=0

5. 9cos® x — sin® x= 4sin 2x

6. 7sin2x+3cos2x+7=0
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BAPWUAHT 26

Pemure TPUTOHOMETPHUICCKUC
YpaBHCHUHA:

1. 10sin’x+ 17sinx+6=0
2. 3sinx+7cosx—7=0

3. 3sin®x + 11sin x cos x + 10cos? x
=0

4. 5tgx—Octgx+12=0
5. 3sin®x + Ssin 2x + 7cos*x =0

6. 12cos®x +cos 2x=15sin 2x + 1
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BAPWUAHT 27

Pemure TPUTOHOMETPHUHYCCKHUC
YpaBHCHUA:

1. 5cos’x+12cosx+7=0

2. 10cos’x+ 17sinx—16=0

3. 2sin® x + 9sin x cos x + 4cos’ x =0
4. 4tgx—6ctgx+5=0

5. 8sin’ x + 3sin 2x = 14cos’ x

6. 2sin’x —7cos 2x = 6sin 2x + 7
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BAPUAHT 28

Pemure TPUTOHOMETPUICCKHUEC
YpaBHCHUHA:

1. 12sin>x—20sinx+7=0
2. 3sin*x+S5cosx+5=0

3. 3sin® x + 13sin x cos x + 14cos’ x
=0

4. 3tgx—4ctgx+11=0
5. 8cos’x + 7sin 2x + 6sin* x =0

6. 1 —cos2x=18cos*x — 8sin 2x
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BAPUAHT 29

Pemnre TprroHOMETpHYECKHE
YpaBHEHHUSL:

1. 4cos’x+1lcosx+7=0
2. 10cos’x—11sinx—2=0

3. 2sin’® x + 13sin x cos x + 6¢cos’ x =

4. 3tgx—2ctgx+5=0
5. 7sin2x+2 =18cos*x

6. 13sin2x+ 13 =—5cos 2x
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BAPUAHT 30

Pemre TpuroHoMeTpruecKue
YpaBHEHHUSL:

1. 8sin*x+ 14sinx—-9=0

2. 2sin’x+5cosx+5=0

3. sin’x+ 9sinx cos x + 14cos* x =0
4. 2tgx—5ctgx+9=0

5. 7sin® x + 5sin 2x + 3cos’ x =0

6. 2sin’ x + 9sin 2x = 10cos 2x + 10
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BAPUAHT 31

Pemnre TpuroHOMETpHUYECKIE
YpaBHEHUS:

1. 3cos’x—7cosx+4=0
2. 8cos’x+10sinx—1=0

3. 3sin® x + 13sin x cos x + 4cos’ x =

4, Stgx—ldctgx+3=0
5. 7sin2x=22sin*x—4

6. cos2x + 8sin 2x =1 — 18cos’ x
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BAPUAHT 32

Pemnre TpuroHOMETpHYECKHE
YpaBHEHHUS:

1. 8sin’x—10sinx—7=0
2. 2sin*x—3cosx+3=0

3. 2sin’x + 11sin x cos x + 12cos® x
=0

4, 4tgx—ldctgx+1=0
5. 4sin2x+ 10cos*x =1

6. 1lsin2x—7cos2x=11






